Complex Number worksheet MATH 1210

Each of the following complex numbers is given in Exponential form. Convert them into Cartesian form.
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3
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Complex Number worksheet

Solutions:

1. 1+

2 -4

3. 2+

4. —10 —410V/3

5. 12 10¥3;

6. 103 _ 10,

7. =85 1 8

8. B+ 2%

9. =AL/3 _ 4L,
10. —13v3+13i
11. —V3—i
12, =3 4 31754
13. 4v/3 —4i
4. 2434
15. —40 + 40¢
16. =16 _ 16v3;
17. =30 4 20434
18. 40 4 40v3;
19. 4+4i
20, =2Y3 _ 29;
21. 9v3+49i
22. =T -1
23. 2 -3
24, =383 4 35
25. 32 4 323,
26. —10 — 10i
27. 19 4 193,
28, =133 _ 43,
29. 2 +3i
30. =123 4 124
31 2 23
32. =3 - 3
33. 243 4 2
34. 1 — 1
35. =% — 2L
36. =22 _ 4343
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85.
86.
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I
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9 9
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-5 — 5t
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-
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3 t =3¢
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—43 4 437\/31‘
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8 8

—11 113
3 t 3¢

33 33

4 a1t
—19+i19v/3

g_37\/§i
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—14 + 14i
164/3 + 16i

—25 25
9 + 9
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150.
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160.
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174.
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@_35\/51-
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—21v3 _ 21,
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203 20 ;
B
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B
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—4 43 ;
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-9 9Vv3
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233 23
R
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176. 5 — ==
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9v3 9
2

2
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